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The figures in the right-hand margin indicate marks
e84 aIeq 4l a%eyl gga gae geIes
Carefully follow the instructions given

in each Group and question

g6eie Galg 6 946 go ggeRagee a9
age aIRe @

/385 ( Turn Qver)



(2)

@—aUa

From the following alternatives given under
_each bit, write the correct answer serially
 along with its serial number against each
L bit: 1x5=5
o {6 gea dgeoi@ g8 949 Aagee
rIg e da @@ Q°gNIdE Qo QARG

QAIRAER RS :

(c)

& The head of India’s Audit and Accounts

System is
QIeea @Qle Al G m&_ﬂ ARG QA6RIP

Qdl 84, 62 626R

(i) the Planning Commission |
caIeR *AAR |
(i) the Finance Commission
g8 @Ade

(iii) the Comptroller and  Auditor
" General of India

D169 Qegine 6 26T 6XEAAUIM

_w.p& the Attorney General of India
.Q_QS m:m_& 626EAUN
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GROUP—A | (b) The

(3 )

person  who m@vosﬁm :
Comptroller and Auditor Ogonmu 0».

India is

QAR FHELINA B AGSTR mnmmo_mm.. mZ
890 69aaI3, 69 626M

(i) the Lok Sabha / ERISANI

(i) the Prime Minister / QIFAF1
(iii) the President of India / QFAB
(iy) the Finance Minister / 28Ag1

CAG retires
CAG 2999 gad8 @8

(i) after 6 years of appointment or on
completion of 65 years of age

898 aipeia 9 od aex @l 98 Qd
QQd 648 689l U6Q

(ij) after 6 years of appointment or on
completion of 62 years of age

593 919QIQ 9 QF a6 @Rl 99 QF
QOd 649 6291 A6Q

(iii) after 5 years of appointment or on
completion of 62 years of age

A8 QIR 8 9F a6 @Al 99 «F
QOQ 649 6291 AR

(iv) after S years of appointment or on
ooBEomob of 65 years of age

Q8 QIRQIQ 8 9 A6 @Al 98 3H
Qad 699 62U AR i




. . 4 )

_.Hwﬁ >H_uo~a of the Constitution of
-under which the CAG is

,%85&. is
 QI9eQ QAUGA 699 QI AR CAG
~ Bg8 amiB, e1@ 6wl ‘

(i) Article 63/ dIQl 990
(i) Article 76 / ¥l 99
(iii) Article 148 / dIQl ¥l

(i) Article 280 / ¥IQ1 9ro

(e) Monitor of a computer is
QEeR AT 6298

(i) an accounting package
9@ 2QIe QY6

(i) an audit process
e 2aIe aMal 98e

(iiij a computer hardware
. 4@ 9fica QIPeda

h& m mﬁg mnogm maSna
$ o8 9QIRE ARIR

( Oozn.nzm&w

2. Answer the following as per 9« 5,mgo.uob,.
given in each bit : _

geeye §8 996Q 998 2g6ed geIee 598ge

(s

1x10=10

g9q9eea Qe Qd :

(@)

(b)

/385

Express the following in . 1 word/term
each

Fofge geciag % de/aeca deid

;.

(i) CAG makes its report to
CAG QOleq J9a4d1 QIgig geIe |93,
6d 6Lem

(i) The basic unit of a presentation
QdgIae QAQI A @ R ceal

(iij) It is wused for monitoring all
document changes
Qg QIAE QIRINGI A} 9T WA
QUL

Answer the following in 1 sentence
each

AOAGS gecie g9e Qe fF Qiauea

RS : |

(iv) What is the main purpose of O>O.m
CAGQ €84 Q6aqy @'Q?

( ?Bc&l




\ H.Jou. ‘whom does the CAG of India
. work?

 QI86Q CAG QI 9Ig QI 998 ?
‘”«Q _.__”,,Noom.@ the underlined portions of the
mozogbm sentences :
39&@ O_mﬁ_ﬂm@mﬂ 3]l 6Q9ITe @oa_@wﬁ.

o S0 QEERIT Q4
S (i) CAG can be removed by. the

President on the report of the
Supreme Court.

Qda 6RIFa TR QIR ANES
QAIAL CAGQ 9L9Ia @a4Ied
Monitor is an input device.
aaeq 9@ I G

The full form of CAG is Cost
Accountant Government of India.

CAGR 94 QO 62Rl @8 RIaQIg,
NG AR |

(viy)

(viii)

. (d) Fill in the blanks :
. 99919 9o 94

(ix) A is a grid of cells m.ﬁmsmma
in rows and columns.

. 69IGy g6 diex 6R1a Q1eId
 RI99 G 24 2IRINA IR cRIRe]

()

(x) file starts MS. e<oa.__
MS Word _ -~ @89 29l

GROUP—B
S—aUa
Answer mb% Jfive of the following questions
within 2 sentences each: 2x5=10
CARge g99%ee AUQ g604eq 9T QANNER
QTS QY 66T AlgFa Aeq @ :
() What is the function of a mouse?
AR} QY 4?2
(b) What do you mean by hardware?
QP63 FT6M Q6 Q4 QE?
(0 What is CPU?
CPU @'4?
(d) What do %oc,. mean by laptop computer?
MG RYICQ FLEM Q6 'E 9?7
(e) What do you mean by social audit?
AAITR AN QR6ER G6A @'a QE?

(/ What is audit ethics?
2219 ANV 670G @'a?

( Continued \ /388




( 8)

(@ Write any two duties of CAG of India.
QKGR CAGRR 6A6HIAT gad @Iy 6ms|
(h) What is ROM?
ROM @'4?

GrouP—C
J—axuel

Answer any three of the following questions : 5%3=15
2QR4e g9q9eea 6aealed FeRIF g9e @aq @ :

4.

m‘

H23 (385)

Discuss the functions of CAG.
CAGRQ "QIdYISR ERIGR! @l

Explain the uses of Tally.
Tally@ QUL QCI Emdl|

State the advantages of using computer in
audit work.

219 AMAI RUIEQ AFITR NIRINQ QARIAS]
Qs

Distinguish between hardware and
software.

QAR B ATEER RIGA QldRy Qg

Discuss the functions of MS Office.
MS Office® QISR 2IAIGQI Qg

. B

575 R
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